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o
a=[12345;23456;34567;456738]
a:
1 2 3 4 5
2 3 4 5 6
3 4 5 6 7
4 5 6 7 8
PN Ogw g p M 23 53 due oLl
a(2,5)
ans= 6
PSRy g S L
v=a(,4)
V=
4
5
6
7
PN g B oM gt 5l g Wiz ol
a(:,m:n)
a(;, 2:3
ans =
2 3
3 4
4 5
5 6
o i bo I (i ol
sa =a(2:3,2:4)
sa=
3 4 5
4 5 6
P @) b g S
a(:, 5)=l]
a:
1 2 3 4
2 3 4 5
3 4 5 6
4 5 6 7
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o Pl (weSae dwloxo
a=[123;234;125]
inv(a)
ans =
-3.5000 2.0000 0.5000
3.0000 -1.0000 -1.0000
-0.5000 O 0.5000

b g yilo 32,45 9 2o
a=[123;456;789];
b=[756;208;571];
c=a+b
d=a-b

12 15 10
d=

6 -3 -3

2 5 -2

2 1 8

L il o po
a=[101223;1486;2789];
b=2;
e=a*b

20 24 46
28 16 12
54 16 18

ool ¥ duwloo
a=[101223;1486;2789]

10 12 23
14 8 6
27 8 9

10 14 27
12 8 8
23 6 9

Obieo 3370 dwlxo

a=[123;234;125]
det(a)
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L o il pleol

a=[101223;1486;27809]
b=[123145;80-9;45211]
c=1a, b]
d =[a; b]

10 12 23
14 8 6
27 8 9

12 31 45
8 0 -9
45 2 11

10 12 23 12 31 45
14 8 6 8 0 -9
27 8 9 45 2 11

10 12 23
14 8 6
27 8 9
12 31 45
8 0 -9
45 2 11

oyl S,

a=[101223;1486;2789];
n=rank(a)

(d) oyl oig polio g (V) b Hlo

a=[101223;1486;2789];
[v,d]=eig(a)

-0.6457 -0.6997 0.1674
-0.3972 0.2376 -0.8951
-0.6521 0.6738 0.4132

d=
40.6089 0 0
0 -16.2202 0
0 0 26113

Sl Vs yilo (6 (ygimw plas pa ;Lo G0y s Hlop 90 w yilo (Lol yhad g9y polic ojg yolio
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P b eyl
Yoo g Flo
zeros(5)
ans =
0O 0 0 0 O
0O 0 0 O O
0O 0 0 O O
0O 0 0 0 O
0O 0 0 O O
SOyl
ones(4,3)
ans =
1 0 0 O
0 1 0 O
0O 0 1 0
0O 0 0 1
9>lg g Flo
eye(4)
ans =
1 0 0 O
0O 1 0 O
0O 0 1 0
0O 0 0 1
(BT 311 L) pay o S lo
rand(3, 5)
ans =
0.8147 0.9134 0.2785 0.9649 0.9572
0.9058 0.6324 0.5469 0.1576 0.4854
0.1270 0.0975 0.9575 0.9706 0.8003
(ol il yhaS g (ygiw y2 Olusl Egomo b o) 52 Slasl ggome ) (93l i yilo
magic(4)
ans =
16 2 3 13
5 11 10 8
9 7 6 12
4 14 15 1
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Example :
v=1[21-1-2-5];
D = diag(wv)

D = 5x5
2 0 0 0 0
0 1 0 0 0
0 0 -1 0 0
0 0 0 -2 0
0 0 0 0 -5
Example :
v=1[21-1-2-5];
D1 = diag (v, 1)
D1 = 6x6
0 2 0 0 0 0
0 0 1 0 0 0
0 0 0 -1 0 0
0 0 0 0 -2 0
0 0 0 0 0 -5
0 0 0 0 0 0
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if <expression 1>
% Executes when the expression 1 is true
<statement(s)>

elseif <expression 2>
% Executes when the boolean expression 2 is true
<statement(s)>

else
% executes when the none of the above condition is true
<statement(s)>

End

Example :
a=100;
ifa==10
% if condition is true then print the following
fprintf('Value of ais 10\n');
elseif(a==20)
% if else if condition is true
fprintf('Value of a is 20\n"');
elseif a == 30
% if else if condition is true
fprintf('Value of a is 30\n');
else
% if none of the conditions is true '
fprintf('None of the values are matching\n');
fprintf('Exact value of ais: %d\n', a );
end
None of the values are matching
Exact value of a is: 100




o

for index =

End

Example
fora=10:

end

value of a:
value of a:
value of a:
value of a:
value of a:
value of a:
value of a:
value of a:
value of a:

fora=1.0:
disp(a)
end

0.90000
0.80000
0.70000
0.60000
0.50000
0.40000
0.30000
0.20000
0.10000
0

values

<program statements>

fprintf('value of a: %d\n', a);

10
11
12
13
14
15
16
17
18

Example :

-0.1: 0.0
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for g ail>

a=a+1;

end
end
value of a:
value of a:
value of a:

for a=10:100
fprintf('value of a: %d\n', a);

ifla>12)
% terminate the loop using break statement
break;

10
11
12

break jgiws U ail> 3l zg,5
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while <expression>
<statements>
End

Example :

a=10;

% while loop execution

while(a < 20)
fprintf(‘value of a: %d\n', a);
a=a+1l;

end

value of a: 10

value of a: 11

value of a: 12

value of a: 13

value of a: 14

value of a: 15

value of a: 16

value of a: 17

value of a: 18

value of a: 19
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while ail>

Example :
fori=2:50
forj=2:50
if(~mod(i,j))
break; % if factor found, not prime
end
end
it > (/1))
fprintf('%d is prime\n', i);
end
end
2 is prime
3is prime
5 is prime
7 is prime
11is prime
13 is prime
17 is prime
19 is prime
23 is prime
29 is prime
31is prime
37 is prime
41 is prime
43 is prime
47 is prime

¥ )05 sl ail>
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solve (equation, variable)

Example :
solve ('v-u-3*t"2=0"', 'v')

Yo ols o b aYoleo Jo

eq = '"x" - T7*x"3 + 3*x"2 - 5*x + 9 = 0"';
s = solve(eq);
% converting the roots to double type
disp ('Numeric value of first root'), disp(double(s (1l
disp ('Numeric value of second root'), disp(double (s
disp ('Numeric value of third root'), disp(double (s (3
disp ('Numeric value of fourth root'), disp(double (s
Numeric value of first root

6.6304
Numeric value of second root

1.0598
Numeric value of third root

-0.3451 - 1.07781
Numeric value of fourth root

-0.3451 + 1.07781

@yl B 55 o yeS U olg (2 35530 31l pd oiligi 1 X = I+ 3% = 5x + 9= 0 Gy y25 K8
eq = [11 _71 31 _5/ 9]/

b wlaise olKws Jo
S5x+9y =35

3x -6y =4

s = solve('5*x + 9*y = 5','3*x - 6*y = 4");
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oo

define symbolic variables
= sym ('x");
= sym ('y');
= sym ('z');

N X

o)

% expanding equations
expand ( (x-5) * (x+9))

expand ( (x+2) * (x-3) * (x=5) * (x+7) )
ans =

-45.0+x"2+(4.0) *x

ans =
210.0+x%4-(43.0) *x"2+x"3+(23.0) *x

Gilw oolw 9 (5525 9351
syms x
syms y
factor (x*3 - y"3)
factor ([x"2-y"2,x"3+y"3])
simplify ((x"4-16)/(x"2-4))
ans =
(x — y)*(x"2 + x*y + y"2)
ans =
[ (x - y)*(x +y), (x +y)*(x"2 - x*y + y*2)]
ans =
X"2 + 4
&b v awlxo
syms x

limit ((x"3 + 5)/(x"4 + 7))

10
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a=tf([5 6 11,[0 1])

sh2+6s+5

S yado b howd @b iy yai
symss;
a=s/(s*s+6*s+5)
a=
s/(s"2 + 6*s + 5)

oS 9o b B b o @b e

& Y dwlxe

(a
laplace (t

(

(

s LY

syms s t
ilaplace (1/s"3)

11
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319903 oy
x = [0:5:100];
y=X
plot(x, y)
100 ! 1 1 1 1
a0t / |
8o} / .
T0 -
60| / .
50 / il
40 / -
0 -
20t a
10} .
n 1 L 1 L | L 1 L 1
0 10 20 30 40 50 &0 70 &0 50 100
G195 pU g Hlojon o903 95w
x=1[0:0.01:10];
y =sin(x);
g = cos(x);
plot(x, y, x, 8),
legend('Sin(x)', 'Cos(x)")
1 — : .
! Sin(x)
08} —— Cos(x} ]
06}
04t
025
E L
D21
D4
DB .
08} .
__1 i ' 1 -l 1 'S
i} 1 2 3 4 5 B 8 g 10

12
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(title) gylagre 0,5 aslal
(xlabel - ylabel)b,oxo yloe 4,5 adlsl
(grid on) ,loged (guoy ummdty

(axis equal) g yloges
x =[0:0.01:10];
y = sin(x);
plot(x, y),
xlabel('x"),
ylabel('Sin(x)"),
title('Sin(x) Graph'),
grid ony
axis equal

3t H . -
| | 1 ] i | | 1 1
0 1 2 3 4 5 6 T 8 g 10

1 yg700 03 guceo iy y25
axis ( [xmin xmax ymin ymax] )
Example :
x=1[0:0.01: 10];
y = exp(-x).* sin(2*x + 3);
plot(x, y), axis([0 10 -1 1])

13
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)‘és.».; &) Ul&ﬁ'
Code Color
W White
k Black
b Blue
r Red
o Cyan
g Green
m Magenta
y Yellow
x=[-10:0.01: 10];
Yy =3 XM +2*x A3 +T7*¥XxM2+2*x+09;
g=5*x"3+9*x+2;
plot(x, y, ', x, g,'g")
4
g A B — — —
at A
'|I II
25F {4
2t 1‘-. J -
\
I\. 'I
151 /4
h! ll,-‘l
1t \ .
05F
oF ———— —— 4
-D5F 1
_1 i i i 1 'l 1 'l 1 i
-10 -8 -5 4 -2 0 2 4 & 8 10
hOId on )5-'“0 b )b’.o.; M ul.o}.o.b o= )
x=[0:0.01: 10];
y = sin(x);
g = cos(x);
plot(x, y),
hold on,
plot(x, y),
legend('Sin(x)', "Cos(x)")

14
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subplot(m, n, p)
ol ddly (s H10g00 3B oyl (5 ol LA P
x = [0:0.01:5];
y = exp(-1.5%*x).*sin(10*x);
subplot(1,2,1)
plot(x,y), xlabel('x"),ylabel('exp(—1.5x)*sin(10x)'),axis([0 5 -1 1])
y = exp(-2*x).*sin(10*x);
subplot(1,2,2)
plot(x,y),xlabel('x'),ylabel('exp(—2x)*sin(10x)'),axis([0 5 -1 1])

1 1
0.8 . 08 1
06 { o8 F| -
04 1 04 1
L =
2 02 {8 o2t ]
3 - £
£ ot ||| [\N~——r] é o {\ \
I A
- 02 18 1 U 1
04 1 D4t 1
06 1 98} 1
0.8 1 DB} 1
=1 i A i A __1 A L i i
¢ 1 2 3 4 5 6 1 2 3 4 5
x x

15
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H=tf([2 5 1],[1 3 51);
pzmap (H)
grid on

Pole-Zero Map

074 . .- 06 046..-034 022 01
e ® e S :
086 . e S

-
n

=
T
1

-q,.g'a. o

o

on
T
I

P2
?r.n
[o]
R

—

n

-

L

=

o
——
1

098

Imaginary Axis {5ecor1ds'1)

i

=
T
I

A5HEBE e T e

e 0747 T 067 0487034 022 0

2.5 =2 -1.5 -1 0.5 ]
Real Axis {seconds'1)

Root Locus 1540

h = tf([2 5 11,11 2 31):
rlocus (h)

Root Locus
1.5 r

o
[S)]

=
)
o

Imaginary Axis (second5'1]
&
o

-2.5 -2 -1.5 -1 0.5 0 0.5
Real Axis {seconds'1}
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H=tf([-0.1,-2.4,-181,-1950],[1,3.3,990,26001);
bode (H, {1,100})
grid on

Bode Diagram
20 T

101 i |

Magnitude {dB)
]
| T
I
|
|
|
|
|
N

FPhase (deq)
g 3

s
o
T
i
.
1

0 i

10" 10! 102
Frequency (rad/s)
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(zoh — foh —impulse — tustin — matched — least squares sl (o9, L) 5 3tw diuans

sysd = c2d(sys,Ts,method)

Example :
H=tf([1 -1],[1 4 5], "Inputbhelay', 0.3);

Hd = c2d(H,0.1, "tustin'")
Hd =
0.03918 z"2 - 0.004124 z - 0.0433
Z8(-3) * e
z"2 - 1.629 z + 0.6701
Al glad by s yilo b ot iy p23

A = blkdiag([-0.1 0.4; -0.4 -0.1],[-1 5; -5 -11);
B = [1; zeros 3, )1
C=1[10120]1;
D = 0;

sys = idss(A,B,C,D)

Al Jow pb 4 el glad buws

A = blkdiag([-0.1 0.4; -0.4 -0.1],[-1 5; -5 -11);
B = [1; zeros 3, )1

C=1[1010];

D = 0;

l[a,b]=ss2tf (A,B,C,D)

H=tf (a,b)

H:

Il glad b s ylo 4 b @b Jod

a = [12 3];
b= 1[10.41];
[A,B,C,D] = tf2ss(a,b)
A:
-0.4000 -1.0000
1.0000 0
B:
1
0
C =
1.6000 2.0000
D:

18
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Sy oublico g ylo duwlxo

a=[1 1;4 -2];
c=[1 0;0 1];
ob=obsv (a,c)

N
N == Oo

(Cwl! ‘5).1&.; s lico ‘sLLud..gO 4"’“*’)‘5)"“" PRV By e
unob=length (a) -rank (ob)

unob = 0

S J A eyl dlxo
A=1[1 1;4 -2];
B=1[1-1;1 -17;

Co = ctrb(A,B)

1 -1 2 -2
1 -1 2 -2

SR IS (s
unco = length(A) - rank(Co)

unco =1

SUuwd dil>
sys = feedback (G, H)

19
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A;l01;01-]=
B;[0;0.9] =

P=[-10 -15];
K=place(A,B,[-10 -15])

166.6667 26.6667

20



